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QUESTION 1

Given the code fragments:

interface CourseFilter extends Predicate {
public default boolean test (String str) {
return str.equals ("Java");

}

}

and

List strs = Arrays.asList("Java", "Java EE", "Java ME");
Predicate cfl = s - > s.length() > 3;
Predicate cf2 = new CourseFilter() { //line n1
public boolean test (String s) {

return s.contains ("Java");

}

h

long ¢ = strs.stream()

filter(cfl)

filter(cf2 /lline n2

.count();

System.out.printin(c);

What is the result?

A2

B.3

C. A compilation error occurs at line nl.

D. A compilation error occurs at line n2.

Correct Answer: B

QUESTION 2
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Given the code fragment:

§. Connection conn = DriveManagsr.getConnection (dbURL, userName, passWord):
10. String query = “SELECT id FROM Employee”;

11. try (Statement stmt = conn.createStatement()) {

12. ResultSet rs = stmt.executaQuery(guery):;

13. rs = stmt.executeQuery (“SELECT id FROM Customer”) ;

14. while (rs.next()) {

15. //process the results
i6. System.out.println(“Employee ID: “+ rs.getInt (“id")):
p r s

i8. } catch (Exception e) {
19. System.out.println (“Error"”):
20. }

Assume that:

The required database driver is configured in the classpath.

The appropriate database is accessible with the dbURL, userName, and passWord exists. The Employee
and Customer tables are available and each table has id column with a few records and the SQL queries
are valid.

What is the result of compiling and executing this code fragment?

A. The program prints employee IDs.

B. The program prints customer IDs.

C. The program prints Exception.

D. compilation fails on line 13.

Correct Answer: C

QUESTION 3

Given the code fragment:

ZonedDateTime depart = ZonedDateTime.of(2015, 1, 15, 1, 0, 0, 0, ZonelD.of("UTC-7")); ZonedDateTime
arrive = ZonedDateTime.of(2015, 1, 15, 9, 0, 0, 0, ZonelD.of("UTC-5")); long hrs =
ChronoUnit.HOURS.between(depart, arrive); //line nl1

System.out.printin("Travel time is" + hrs + "hours");

What is the result?

A. Travel time is 4 hours
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B. Travel time is 6 hours
C. Travel time is 8 hours
D. An exception is thrown at line n1.

Correct Answer: C

QUESTION 4
Given:

public class Foo<K, V> {
private K key;
private V value;

public Foo(K key, V walue) { this.key = key; this.value = walue; }
public static <T> Foo<T, T> twice(T wvalue) { return new Foo<T, T>(value, wvalue):; }

public K getBey() { return key; }
public ¥ getValue() { return value; }

}
Which option fails?
A. Foo mark = new Foo ("Steve", 100);
B. Foo pair = Foo.twice ("Hello World!");
C. Foo percentage = new Foo("Steve", 100);
D. Foo grade = new Foo ("John", "A");

Correct Answer: C

QUESTION 5

Given: and the code fragment:
class DataConverter {
public void copyFlatFilesToTables() { }

public wvoid cleose() throws Exception {
throw new RuntimeException(); // line nl
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public static void main(String[] args)throws Exception {
try (DataConverter dc = new DataConverter()) // line n2
{ dc.copyFlatFilesToTables(); }

What is the result?

A. A compilation error occurs at line n2.

B. A compilation error occurs because the try block doesn\\'t have a catch or finally block.
C. A compilation error occurs at line nl.

D. The program compiles successfully.

Correct Answer: B
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